
CGV91−3N

CGV92−1A

Wellenlänge λ /nm Kontrast C=2:1

Rr(λ) = R(λ)/0,18 Relative Reflexion
Ostwald-Farbe: Rot R, λ1=570 , λ2=700 , λd=595
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CGV92−2A

Wellenlänge λ /nm Kontrast C=2:1

Rr(λ) = R(λ)/0,18 Relative Reflexion
Ostwald-Farbe: Gelb Y, λ1=495 , λ2=700 , λd=570
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CGV92−3A

Wellenlänge λ /nm Kontrast C=2:1

Rr(λ) = R(λ)/0,18 Relative Reflexion
Ostwald-Farbe: Grün G, λ1=470 , λ2=570 , λd=520
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CGV92−4A

Wellenlänge λ /nm Kontrast C=2:1

Rr(λ) = R(λ)/0,18 Relative Reflexion
Ostwald-Farbe: Cyan C, λ1=400 , λ2=570 , λd=495
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CGV92−5A

Wellenlänge λ /nm Kontrast C=2:1

Rr(λ) = R(λ)/0,18 Relative Reflexion
Ostwald-Farbe: Blau B, λ1=400 , λ2=495 , λd=470
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CGV92−6A

Wellenlänge λ /nm Kontrast C=2:1

Rr(λ) = R(λ)/0,18 Relative Reflexion
Ostwald-Farbe: Magenta M, λ1=570 , λ2=470 , λd=520c
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CGV92−7A

Wellenlänge λ /nm Kontrast C=2:1

Rr(λ) = R(λ)/0,18 Relative Reflexion
OptimalFarbe: Weiß W, λ1=400 , λ2=700 , λd=−
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Normreflexion
0,127<=R(λ)<=0,254
Relative Reflexion
Rr(λ)=R(λ)/0,18


